
Řešení zeleného testu: 

1          12 

2.1      21,6 

2.2         14,6 

 

3.1 -5a2 – 36a - 52 

3.2 -14x2 + 3x - 49 

 

4.1  13/4 

4.2 4 

5 x = 1 , L=P = 13,6 

6.1 20 dvacetikorun, 9 padesátikorun 

6.2 30 

7.1   

 

 

 

 

 

7.2 225 cm2 

 

8.1 279 cm2 

8.2 66 cm 

9  

 

 

 

 

 

 

 

 

 



10   

 

 

 

 

 

 

 

 

11.1       A 

11.2 N 

11.3 A 

 

12.1 A 

12.2 A 

12.3 N 

 

13 D 

14 D 

15 C 

 

16.1 C 

16.2 A 

16.3 D 

 

17.1 4 medové, 2 šlehačkové 

17.2 440 Kč 

17.3 x = 5 

 

 

 

 

 

 



 

 

 

 

 

14.1 A 

14.2 N 

14.3 N 

15. E 

16.1 C 

16.2 D 

16.3 E 

16.4 A 

17.1 50% 

17.2 50% 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Zdroj: Pracovní sešit Taktik 


